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2a, (DEFBD LX)
B {a,) RO IS IRNIEDSNT VS, a,=0 a,,,= {an+l(n7b§{|%§&0)<‘:§§’) (n=1,2,3, )
(1) a &2kD&,
(2) n WNEROEGE LBEOBEDTNETNUIDOWVT, a,,, & a, THRYE,
(3) a, #3TE|>/-LXDRY 2RD L, (11 FELKR)

CIIKIBEFEIZ ay, a5, ERDTOUDHY FRAR, I X T n WEROGE LEBEDHEDENTE
UIDWTC, a, ., & a, DEREEZZ5DIITT,

mE (1) EBEIMK-STC a,y,a,, - EROTWE, ¢,=0, a,=0, a;=1, a,=2, a;=3,a4=6, a,=7,

ag=14, ay=15, a,,=30

(2) n DEBOIGE, as=a,+1=2a;+1=2(ay+1)+1=2a,+3=2(2a))+3=4a,+3

a, = a6+1=2a5+1 =2(a;+1)+1=2a,+3=22a;) +3=4a;+3 INTRENHEAMIFTOTEE Uk,

n H3EEOD%;

an+4=a<n+3>+1:an+3+1=a<n+2>+1+1:2an+2+1=2a(n+1>+1+1=2(an+1+1)+1=2(2an +1)+1=4a,+3
n WMEROSE

Ay 4= 31=2a,,3=20,,,9,1=2(a,,,+1)=2a,,,1+2=4a, +2=4a,+1)+2=4a,+6

(3) n WERDIBE, a,,,=4a,+3=a,+3a,+3 5, a,, ,=a,(mod3) F/z, n HMERDOEE,
a,,,=4a,+6=a,+3a,+67205, a,, ,=a,(mod3)

DFY,
o =a=ay=-=a,, ;=0(mod3) (nlZERLK
GB=ag=ay=-=a,, ,=0(mod3) (nlXERE)

a=a,=a,=-=a,, =1 (mod3) (nlIBRE)
a=ag=a,=-=a,=2(mod3) (nIXBRE) LRVFET,



